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1.An expert witness in a labor dispute concluded that there was no significant difference

between the wage pad a SUNVIEW ($13.45/hour) and the national average
($14.78/hour). The sample standard deviation was $3.99 for a sample of 36.

(a) Please state null hypothesis (HO) and H1. (5 4°)

(b)What was the maximum Type | error level at which this expert could have been
testing? (5 #)

(c) However the labor union of SUNVIEW claimed that the sampling scheme held by the
expert was not precise enough. In order to increase the precision, Union suggested
increasing the sample size. What's the appropriate size for controlling type | error
below 0.01 ? ( Assuming that 6=4.2) (10 %)

2.Consider the following sample space for home ownership status and income (in $1000)
of families.
Family income

Ownership Under 30  30-60 more than 60
Status Bl B2 B3

Al: own

A2: rent

The probabilities are known: P(A2)=0.52, P(B1)=0.50, P(B3)=0.10, P(A1NB1)=0.10,
P(A1NB3)=0.08.

(@) Obtain thejoint p.d.f. (5 )

(b) Isincome level independent of home ownership status? Please show your proof.
(5~)

(c) Obtain the conditional p.d.f for family income, given that the family owns its home.
(10 )
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